Replace the following text

"pcm_flag specifies whether the associated coding unit with PART_2Nx2N is coded by I_PCM: If the pcm_flag is equal to 1, the associated coding unit with PART_2Nx2N is coded by I_PCM. When the pcm_flag is not present, it shall be infered to be equal to 0.
num_subsequent_pcm specifies the number of subsequent I_PCM coding units with the current log2CbSize that successively follow the current I_PCM coding unit in the same depth of a TB. The values of pcm_flags of the subsequent coding units are set equal to 1. It is a requirement of bitstream conformance that the immediate roots of the current and subsequent I_PCM coding units are identical. The value num_subsequent_pcm shall be in the range of 0 to 3, inclusive."

by

"pcm_flag specifies whether the associated coding unit with PART_2Nx2N is coded by I_PCM: If the pcm_flag is equal to 1, the associated coding unit with PART_2Nx2N is coded by I_PCM. When the pcm_flag is not present, it shall be inferred as follows: If the current NumPCMBlock is equal to 0, it shall be inferred to be equal to 0; otherwise, it shall be inferred to be equal to 1.
num_subsequent_pcm specifies the number of subsequent PART_2Nx2N coding units coded by I_PCM with the current log2CbSize that share the same parent node as the current I_PCM coding unit and successively follow the current I_PCM coding unit in decoding order. The value num_subsequent_pcm shall be in the range of 0 to 3, inclusive."
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